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What perhaps set the alarm bells ringing in New Delhi was the
Bangladesh’s procurement of two refurbished Chinese submarines
which brought the Indian defense minister for his maiden visit and
the push for a 25-year defense pact proposing enhanced
cooperation between the two militaries and insisting on purchase
of defense equipment from India. How should India view
Bangladesh's rising closeness with China? With suspicion or with
maturity? Should India insist on countering the imagined Chinese
“influence”™— imagined because China has in no way been able to
influence our policy of friendship towards India — by forcing a
“defense treaty” or “greater defense cooperation” on Bangladesh?
Will such enhanced cooperation give India any additional strategic
benefit than it already enjoys?

Despite seven years of talks between Ottawa and Brussels, the
Comprehensive Economic and Trade Agreement Treaty crashed
into a wall Friday after being rejected by the Belgian region of
Wallonia, making it impossible for the European Union to approve
the deal. That was an ominous sign for another ambitious treaty,
the Transatlantic Trade and Investment Partnership between the
United States and the EU, which also faces strident opposition on
both sides of the Atlantic.

T BEHTEEE LU ERE (40%)
1. What are major differences between WTO and FTA? (10%)

2. Why US President Trump does not like multilateralism while
favor bilateralism, when it comes to trade? (10%)

3. Who is Christine Lagarde? (10%)
4. What is THAAD? (10%)
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2. fEFEEHE (30%) ¢
(1) 2015 FEE Y& (The Paris Agreement)
(2) BrEaEZEeE 2 (N Security Council) ;
(3) 5 5 40%% World Trade Organization, WTO) ;
(4) FEEEEH 5 (Hegemonic Stability Theory)
(5) HFEM
6) +JLK-
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“President Trump made his reputation on making deals. Kim
Jong Un is the one person who is able to make decisions
under their authoritarian—uniquely authoritarian—or
totalitarian system. And so it made sense to accept an
invitation to meet with the one person who can actually make
decisions instead of repeating the, sort of, long slog of the
past.”—A Senior Official from White House.

Having interviewed Tillerson and written a profile of the man
during his tenure as secretary of state, Filkins concluded: “As
far as | could gather, Tillerson doesn’t have much of an
ideology, apart from efficiency.” Fair enough, but efficiency
Is always a matter of the means to a certain end; it is never an
end in itself. Unfortunately, the latter view is common among
many business professionals, for whom greater efficiency is
synonymous with greater profit, the ultimate end of their
labors. The same logic doesn’t apply to government agencies,
however. They can always benefit from greater efficiency, but
their ultimate success is never measured by profit margins.

sEUE S w E T SRR (10% each, 40% in total)
Who is Vladimir Putin?

What is the CPTPP?

What is “Freedom of Navigation”?

What is the UNFCCC?
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1. IAEA (6 %)
2. NATO (6 % )
3. ASEAN (6 %4 )
4.1CAO (6 %~ )
5. Eurasian Economic Union (5 4 )

6. International Criminal Court (5 4 )

—i

* ¥ AL (36%)

Lol MEREZE ¥ ZREROR L (104 )

2. 7R 2018 & % ?ﬁLé PHAEREIMEL ? (64)

3. ,ﬁra*?ﬂ WAL - AR A e R ’*Eﬂ;ﬁl?%iﬁ R %R
XiPHERLR? (6»)

4. 3R % > F)5(security dilemma) & & ? 5 RS E F SE T
B2 (74)

5. 5. p W g F & SPD 3 o A & g Ry R I iR
F A ONIRLE & R ? iR R & SRR B o (T 4)

=~ ¢ %370 (30%)

1. K44 T gr(balance of power)m AR Y aa R

1} DA R A g M R B e

N




R2poin s 2§k
108 & # B # i 7 84

P IER S RERY
YRR 00 A4 RAEEFEE R L - HEE)

- B R% (60%)

1. 2018 2= ® mken?d 2 F A Miz 4 5210 2 BAY X TEA glenx Bip g
LNFERIE T AEET IR BE IR o (FLRFIHES A
2 BB E R RO e EEE o F (2354 5 10—15—10 4 ):
(1) 3 ilvﬂxlﬁﬁpﬂe— Br bRt B 2R E
(2) #E¥F LA REH '?ﬁpm“ CEH - BALRIES P AREREGD

ﬁé%f&*ﬁw LA LR

(3) A my - ix (‘ﬁ'J) A TF G 55‘?% PR ZR B P2 AT

2. AR (£ 254 FHET A FHFERFFHL LR NE L 2L EBER)
(1) ASEAN ;
(2) Boko Haram

(3) SDGs
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“How can a president of the United States give a State of the Union
speech and not mention - not one word - about climate change when
the leading scientists of the world tell us that climate change is real,
that climate change is caused by human activity, that climate change
is already causing devastating harm in the United States,” Sanders
said. “Furthermore, the scientists tell us we have a very short, 12
years, not a lot of time in order to transform our energy system away
from fossil fuels.”
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I. Short Answers (Please briefly define All the terms in ENGLISH below.
Only the first two sentences of your answers will be graded.)- 50%/ 10
each

1. Theory (10%)

2. Security Dilemma (10%)
3. Soft Power (10%)

4. BRICS (10%)

5. Nuclear Deterrence (10%)

I1. Essay Questions (Please answer All questions in ENGLISH below)-
25%

1. Based on the arguments from realists, countries are hardly to
cooperate or cooperation cannot sustain. Why countries can
cooperate? How to overcome prisoner’s dilemma? Please briefly
explain these two questions with your ideas and knowledge, and
also answer what neoinstitutionalism has promoted on the
international organizations for the issues of cooperation. In addition,
please elaborate the major problems that the United Nations has
encountered for the past decades.
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I. Short Answers (Please briefly define All the terms in ENGLISH below.
Only the first two sentences of your answers will be graded.)- 50%/ 10
each

1. anarchy (10%)

2. MSRI (10%)

3. RCEP (10%)

4. freedom of navigation (10%)

5. bandwagon (10%)

II. Essay Questions (Please answer All questions in ENGLISH below)-
25%

1. Democratic peace theory (DPT) originated from the Kantian triad.
Please briefly elaborate the arguments of democratic peace theory and
discuss the issues (or puzzles) that DPT fails to solve in the international
society. Please also point out the other two critical lags in the Kantian
triad when we study international conflicts.
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